— B0 FE)-J
—DEE A

K4 B | B8 | 88 | XA | AE |HEe% | BKAE| B K& B | BX K4 B | B
mh&ERyFe—L| 0 1 8 7 1 1 1.00 3 1 [pbhssRyFe—L| 2 O | VS |+am7s7sozt—y| 1 x
+Em7sTIAA—y| O 1 14 2 12 1 12.00 1 2 | BRO7IY— | 5 O | vs | TEAMY=<T+ | 0 X
BRI — 0 1 9 6 3 1 3.00 2 A | 3 |+BE7sTIRk—y| 4 O | vs | @\RI7PIU— | 0 X
TEAMY < T % 0 3 2 18 -16 3 -5.33 4 4 | ppxEkoFe—L| 4 O | VS | TEAMY=RT* | 2 X

0 6 33 33 0 3 10.67 5 [pbEEkyFv—L| 2 x | vs | #ERI7IU— | 4 e}

6 |+BEFIFTRR—y| 9 O | VS | TEAMYTTX | 0 X

— iR DEE B

K% B | A% | 85 | KA | AZ |HEH|BRAE| EX K4 Ba | B K& BA | B
Y#a 0 1 7 9 -2 1 -2.00 2 1 DL 0 x | VS |F—n &£F55¢| 8 | O
F—L E£FEB3E| 0 0 19 1 18 0 #DIV/0! 1 2 W.EK 9 O | VS | hRyF¥—X | 0 X
W.EK 0 2 10 12 -2 2 -1.00 3 B |3 |F—4 EF25¢| 9 | O | VS WEK 0 x
HRyFr—X 0 3 1 15 -14 3 -4.67 4 4 Dk ;| 4 O | VS | hkyF¥—X | © X
0 6 37 37 0 3 #DIV/0! 5 DE:| 3 | O vs WEK 1 x
6 |F—L &FASE| 2 O | vs | hkyF¥—X | 1 X
—RDE_C
K% B | A% | 88 | kR | AE |HEAR|BRAE| B K4 B | B K4 BR[| B
roa—RyFr|( 0 1 3 8 -5 1 -5.00 2 1 [rva—RyFv| 0 x | VS| F—LN+ 6 @)
F—LN+ 0 0 11 1 10 0 #DIV/0! 1

F—LATEHE| 0 2 3 8 -5 2 -2.50 3 Cl2| F—LN+ 5 | O | VS |F—LKTE#HE| 1 x

0 0 0 0 0 0 0 #DIV/0!

0 3 17 17 0 15 | #DIV/0! 3 [rra—RyF¥y| 3 O | VS |F—LKATEHE| 2 X




